

SEVENSTARS

WWW.D7STAR.COM

VISION & MISSION



We will always ensure engage in activities that will eradicate poverty by empowering our partners to move up to the next level in life.





To be dream achievers and a networkers network. Search out for innovative ways to build up our organization to achieve high quality of life.

ABOUT US



Seven Stars Consulting over 15 years of experience we'll ensure you always get the best guidance. We serve clients at every level of their organization, in whatever capacity we can be most useful, whether as a trusted advisor to top management or as a hands-on coach for front line employees. For every engagement, we assemble a team with the most appropriate experience and expertise. Our goal is to optimize your business relationships by tailoring our services to your individual requirements. We strive to build a relationship of trust with every client, for the long-term, 70% of our work is for clients that we have served for over 10 years.



ABOUT US





BUSINESS OPPORTUNITY

We address work-life balance by offering policies and initiatives that are not just Leader friendly but also focus on their health.

FINANCIAL PLANNING

We have 100% secured and proven business plans to support your business goals. You achieve a goal and you reach a milestone.

INVESTMENT SECURITY

We start with ground-level and strength based planning for business. We execute every business plan with complete analysis.

UPCOMINIG PROJECT



- ☐ Winner 7
- ☐ 7S token
- □ Seven Shop
- ☐ Trade S7
- **□ E-7**



BUSINESS PLAN



BUSINESS PLAN

JOINING PACKAGES



JOINING PACKAGES

\$6

\$12

\$24



TYPES OF INCOME



- 1. S1 Community Bonus
- 2. S2 Community Bonus (Upcoming)
- 3. S3 Community Bonus (Upcoming)
- 4. Cashback Bonus
- 5. Leadership Bonus
- 6. Utility Bonus
- 7. Winner 7 Bonus (Upcoming)
- 8. Winner 7 Referral Bonus (Upcoming)
- 9. 7s Staking Bonus (Upcoming)
- 10. 7s Staking Referral Bonus (Upcoming)



S1 COMMUNITY BONUS: \$6



Sr.No.	Community	Required Direct	Dollar X Days	Total
1	50	1	\$0.6 X 20	\$12
2	100	+1	\$0.7 X 20	\$14
3	200	+1	\$0.8 X 20	\$16
4	500	+2	\$0.9 X 20	\$18
5	800	+2	\$1 X 20	\$20
6	1200	+3	\$1.6 X 20	\$32
7	1800	+3	\$2.6 X 20	\$52
8	2500	+5	\$5 X 20	\$100
9	4000	+10	\$7.5 X 20	\$150
10	7000	+10	\$13 X 20	\$260
11	12000	+15	\$21 X 20	\$420
12	18000	+20	\$31 X 20	\$620
13	25000	+30	\$70 X 20	\$1400

S2 COMMUNITY BONUS: \$12



Sr.No.	Community	Required Direct	Dollar X Days	Total
1	100	1	\$0.6 X 40	\$24
2	200	+1	\$0.7 X 40	\$28
3	400	+1	\$0.8 X 40	\$32
4	1000	+2	\$0.9 X 40	\$36
5	1600	+2	\$1 X 40	\$40
6	2400	+3	\$1.6 X 40	\$64
7	3800	+3	\$2.6 X 40	\$104
8	5000	+5	\$5 X 40	\$200
9	8000	+10	\$7.5 X 40	\$300
10	14000	+10	\$13 X 40	\$520
11	24000	+15	\$21 X 40	\$840
12	36000	+20	\$31 X 40	\$1240
13	50000	+30	\$70 X 40	\$2800

S3 COMMUNITY BONUS: \$24



Sr.No.	Community	Required Direct	Dollar X Days	Total
1	200	1	\$0.6 X 80	\$48
2	400	+1	\$0.7 X 80	\$56
3	800	+1	\$0.8 X 80	\$64
4	2000	+2	\$0.9 X 80	\$72
5	3200	+2	\$1 X 80	\$80
6	4800	+3	\$1.6 X 80	\$128
7	7600	+3	\$2.6 X 80	\$208
8	10000	+5	\$5 X 80	\$400
9	16000	+10	\$7.5 X 80	\$600
10	28000	+10	\$13 X 80	\$1040
11	48000	+15	\$21 X 80	\$1680
12	72000	+20	\$31 X 80	\$2480
13	100000	+30	\$70 X 80	\$5600

CASHBACK BONUS





PACKAGE - ECONOMIC

25 DIRECT ID WITHIN
SINGLE DAYS OF DATE OF
ACTIVATION
0.5% DAILY UP TO 100
DAYS OF DIRECT JOINING

CASHBACK BONUS



PACKAGE - CLASSIC

+50 DIRECT ID WITHIN
SINGLE DAYS OF DATE OF
ACTIVATION
1% DAILY UP TO 200
DAYS OF DIRECT JOINING



CASHBACK BONUS





PACKAGE - PREMIUM

+100 DIRECT ID WITHIN
SINGLE DAYS OF DATE OF
ACTIVATION
1% DAILY UP TO 300
DAYS OF DIRECT JOINING

LEADERSHIP BONUS



Sr.No.	Position	Pair Matching	Bonus	Award
1	Star	30	\$20	Business Tool
2	Bronze	70	\$30	Keypad Mobile
3	Silver	150	\$80	Android Mobile
4	Gold	400	\$200	Tab
5	Platinum	1000	\$500	Laptop
6	Ruby	2500	\$1000	Bullet
7	Pearl	7500	\$3000	Kia Seltos
8	Emerald	20000	\$5000	Foreign Tour
9	Sapphire	50000	\$10000	Luxury Home
10	Diamond	100000	\$25000	Security
11	Director	500000	\$100k	Own Business

UTILITY BONUS



Level	Bonus
1 st Level	5%
2 nd Level	3%
3 rd Level	1%
4 th Level	1%
5 th Level	0.5%
6 th Level	0.5%
7 th Level	0.5%
8 th Level	0.5%



INPUT & OUTPUT



Input

USDT



Output

USDT

TERMS & CONDITIONS



- One mobile or email maximum 5 id creation.
- Minimum withdrawal \$5 and maximum 35\$- per day and multiple of 5\$ withdrawal acceptable.
- ➤ Within 15 days of universal completion direct criteria should be completed. Otherwise that id will be declared dead.
- > 10% deduction while taking withdrawal as TDS and Service charge.
- After capping 10% fund will be deducted for utility wallet. You can redeem this wallet using buy crypto, play games, Recharge different networks, shopping and do e- ticketing.
- ➤ Withdrawal time Monday to Friday 10 am to 1 Pm.
- > Saturday and Sunday no income no withdrawal.
- Customer support system 24 X 7 Hours.



CONTACT US



Contact Us SUPPORT@THESEVENSTARS.CO.IN

THANK YOU



WWW.D7STAR.COM